INSTRUCTIONS: Read each section carefully.
A. Using the symbols >, < and =, compare the numbers below. [4]

7381732

7381732

6 938 271

6 938 271

B. Solve these problems. [12]

89.61
- 26.632

26
+13.824

Solve.

29
+27.69

51
- 38.75

Yesterday, 8 900 people went
to the park and 8 325 people
went to the beach. Which
location had the least amount

of people?
Ans:

(2]

3729173 3483
710 938 1627 388
71
-12.3
54.7
+ 9.39

The hikers can take two trails
to get to their campsite. The
distance along one is 3.82 km.
the distance along the other is
3.49. What 1s the difference
between the two trails?

Ans: [2]




